mEEs| ‘ R ‘ aw
T & EBRHRIE

Ao | okERREEE F L
B 2 THEEER= SR
TEEH = RMEAAHET N

&R =R

1,200

RYIFLUEHPPEQ 100 L=11. 18m(12. 22m)

* 7118 ¢ 100
T Bk 1k K1 ¢ 100

WDIP4 100 d=1.20

A-No| 0

DR

* 711E ¢ 100
Bk AL K EE ¢ 100

170

A-No. 0

)&IL'—‘__

Wr M $=1:50

o 1ob 1o ) 3,010
pod Bod Bod | 1,000 1,250 3,500 l
770|490 (.770) 8, 660 (9, 700) (1,770

11,180 (12, 220)

#IATET L=6.00m

BEMAKRIE [=3.0m XRI2E




HEES| ‘ "R ‘ 125

T & EBRHRIE

Ao | okERREEE F
B 2 THEEERZ &R
TEEH = RMEAAHET N

&R =R

Ml (EER) T
100

# # {REB

AsEA% R 1R
HEAFE (M-30)
A% A (RC-30)

H#EE RN > — =150
S

_%
=
)
(=4
o) 8 f=1
Slg 7 4T S
—| T
Il =
S
PR ™
7 &
=4
HPPE ¢ 100

500

il (EER) I (EEBHER)
ERERRYEED
¢ 100
# B ERL
_ P~

BERRRL— b W=150 Pk E

=
5
B

&
H
Jiad
=]
240

2, 450
2,010

A

2,675

2,435

d

=]

=1

HZ K —
Oy —F4 2G4 %~ HPPE 6 100

700 J \ BEMRR R

425

WE (FEERD) £T
¢ 50

#® A& RER

AsEiZE R R

BEER R & — k=150 i EAFA (M-30)
el H)AFAE (RC-30)
s —=
g g 1 LT g
| & J—
.{X [ =
500 HPPE ¢ 50

AREZEMER s-1:25

mE (EER) T
$ 100

® A {RER

AsEA%E R
HEAFA (M-30)
Y1iA# A (RC-30)

HBE R R > — W=150
BT

925
885
d=700

H=

10

500 HPPE ¢ 100

il (EER) I (XEBHER)
R RYEED
¢ 100
# A ERL
_t P~

R — bk W=150 el
EEE
MIEE

| 240

-

2,555
=2, 330
1,890

2,315

i

d

425

o
S
I
_
N
—_— )
S

Oy —T 42594 %= _HPPE ¢ 100

700 BEMKR IR

mE (BEEE) T
¢ 50

® # {RER

AsEiZE (R (R

HBE R R > — W=150
3L

#iER#E (1-30)
1A% (RC-30)

1,310
=1, 150

d

1,270

H

00,

N3,

N

T
360

500 HPPE ¢ 50

W (HEERD) DIEHLET
$100x ¢ 100 (1 BEKEER)

N 1,200 . 1,300
o
T
=]
8
s
8
o
3
g
X /
BESR L
DIP$ 100
# A ERL

HBE R R > — W=150

1,620

H

AsEh R 18 15

#iER#E (1-30)

KRR — bW=150

)]

BV
= RET 5
ARk g
& Fany X LS o
mioﬂoo Or—F425 94 %—
1,200 1,300
E (BEES) fEELT
$100x ¢ 100(2 BSEHEER)
- 1,200 . 1,300
T
L / g
BESE /
DIP ¢ 100 -
i B ERL
AsEhsR#E 10

#iER#E (1-30)

4

1,125
1,085

H

300 125

d=700

REL

260 10, ! ‘30

AR+

N

—

625

300 IZJ 200,

HPPE 100

1,200

\Br—F42594%—

1,300

T (EERD) DIEHET

$50x 50

700 700

800

600

N

BEEY /
HPPE ¢ 50 J

#E # ERL
AstiZ{REIR

HEEERIR O — FW=150 HERRE (M-30)

BB PiAF:E (RC-30)

= —2@ _—”_11_

o) =
4. #e
m % AR N gl

VA r—F 4TI 4=
700 700

FEMRR R

E (EEEH) FyyvJEHtT

¢ 50

1,000

.

BE% / L
HPPE ¢ 50

1,000

wm Al EBRL
At (18 1
HERE (4-30)
s GARE RC-30)
— EY
=l gEt g
AR+ g =

B
HPPE¢50‘
1,000




mEES| \ R ‘ 110
T a EREAARLS
won | kEmmaen F 7 £n o g

=] =1:
B - FS—— FEE E B s=1:10
TIEER ZRME B EET N

&R =R

U FEREBEKX o

TRHFEHEE
% L) H=0. 70m T Y H=1. 20m +#E YH=1. 20m

BYr—F425 74 %—

Br—F 42574 %=

3 - HURBASKEARIS = - MHURBASKEAKRIS
V] L P
2 LB H=150 3 8 H=150
(=]
< = — | B H=150
S T#B H=300 —
3¢
I
P EAE (F#) H=10 -8 B H=300
fa % T-25 K=100 /]/|H | =
S VP13 £ $500 H=200 =
S |
8 T4 H=300 .
=]
:I|I:
LB (AR B0 B 650 H-300 .
3]
() O o
VP13 iR ¢ 700 H=40 <
) (o) Al




SHIESIAFEER s=1:100

HEES| 2 ‘ "R ‘ 1100
T & EBRHRIE

Ao | okERREEE F
B 2 THEEER= SR
TEERH = RTTRBEET Hh

&R =R

1 SRS

2 BEESL

RUEF L > EHPPE ¢ 1004=13. 28m (14. 64m)

=
RYIFLUEHPPEH 100 L=11. 18m(12. 22m) =
s EETICTHEIA
A g ¢ 100 &
T KAk K42 ¢ 100 EEIICTHE E?J'I'E(I)]OO <
= — A=3. 32 . o
AL \ < 2K L K AE ¢ 100 I EF¥+v v A=1BF e v 7 ¢ 100
— Z =10 e v 76100 ° \@@ T R 6100
N At m2 \?‘< .q/ S EP S V\
W_DIP 100 d=1 20 T Td=n / ’ NG -
= //[ Pc, _ \‘\:\58'0 S CNP, I =y 7
® =i ” = = :@: =
DR - 1P -y pa S H h 59 y / /
o ] —— i W HPEG 100 60,70 —C) BN z RV — WHPPEG 100 g0 70
2 J 5 b.680.00. 700) I wmAENE O 5 ' A m; ’/ g; .
= B o ol
- — Zi AP A=
& Biiaimn il o
I ' i
Il
o ° ° L | T- L] .”
I . ;
il |
LA =

X EIRmEF. CADIZ & H3RIE




